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0.0! R R E P
(T FETTY FRTET FPRTY PP

o +B)

=

<

o

0.95 . . . . . . . .
=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit5_QCDHighPt_base
—e— DQM_mkFit5_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch4
—— DQM_mkFit6_QCDHighPt_base

I Efficienc| —— DQM_mkFit6_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch4

05

E O.JE

0.4

X

°

[

>

>

50.

c

R

2

@

—~
o
o
X

y(PV) (cm)

Efficiency vs Dz(PV)

S 0.5

o

efficiency vs dz(P'
o

o
© N 9O w

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
S OASE

efficiency vs dz(P'
o o o
N © w 9 »




	Contents
	Page 1


